N of associated (recoToSim) looper tracks vs normalized X

tracks vs normalized x? |

| N of associated (recoToSim)

[N of reco track vs normalized x2 ]

track x?

berset

sxoen aredidnp

0924 6 & 10 12 14 16 18 20

14 16 18 20

10 12

8

6

X LETTRRE LTI

Biif

track x2

syoen areandnp

syoel axey

8§ 10 12 14 16 18 20

ATTFRRITETFRR LT

0 2 4 6

track x2

syoel axey

oney

S)oel) aniy

10 12 14 16 18 20

8

0 2 4 6

track x2

syoesy angy

oney

syoen

[ Nof reco track vs.

syoen




	Contents
	Page 1


